LL-3

TEST BOOKLET uter gieeaeht C
Roll I\u ~ l Booklet aiqr
HFHTR Serial No. 80919

Time Allowed : 2 Hours

Feiid w9a : 2 70

Maximum Marks : 160

a7ferRan 3% - 160

INSTRUCTIONS :

1. This Test Booklet contains 80 questions. All
guestions are compulsory. The Booklet is
bitingual. In case of any amhiguity in any question,
English version will hold gaod.

2. The Test Booklet consists of 32 pages (including
cover sheet), Count the number of pages and
guestions before attempting the questions.

3, Blank space in the Question Booklet may be used
for rough work.

4. Each question is followed by four alternatives.
Select only one, which you consider as the most
appropriate. Shade the relevant circle against the
corresponding question number on the OMR
Answer Sheet. Sclecting more than one answer
for a question, even if one of the selected answers
is correct, would result in its being treated as an
incorrect answer.

5. (a) Corrett answers w itl carry 2 marks each.

(b} Wrong answers will carry negative marking
of (minus) -0.5 mark cach.
{c) Questions not atternpted will carry no mark.

6. This Booklet has three sections
Part A
Part B — Teaching Aptitude
Part C - Reasoning Ability

Language Proficiency

7. Merit list will be prepared from scores in 20
guestions of Language Proficiency, 30 questions
of Teaching Aptitude and 30 questions of
Reasoning Ability.

8. Answers should ONLY be marked on the OMR
Answer-Sheet, No answer should be written on

I_the Test Booklet.
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PART -A
Language Proficiency
(Expected Answering Time : 20 Minutes)

Pick out the option which most clearly explains the underlined phrase.

1. You must not let your imagination run away with vou.
(1) You must not let your thoughts make you behave stupidly.
(2) You must think less.
(3) You should not tell lies.
(4) You should not run away from difficult problems of life.

Fil[ in the blank with the most suitable word.

2. Our _______ reputation as a knowledge power is threatened by our weak
primary school structure,
(1) increasing
(2) overpowering
(3) improving
(4) surging

3. Prck out the word that cannot he the opposite of any word.
(1} Infamous
(2} Intolerant
(3) Indeed
(4) Incoming

(Questions 4 to 6)
Complete the sentence with the correct option.

4. It was certain that they _ the train if they had started on time.
(1) Caught
{2} will catch
(3) would catch
(4) would have caught
LL-3/C 2




5. Both the children _ with measles at the beginning of the summer and

we had to postpone our holiday.

(1)
(2)
(3)
(4)

came across
came Jdown
came up

came around

6. Thecar __at the Swan Hotel and a young man got out.

(1)
(2)
()
(4)

drew up
went up
came up

got up

(Questions 7 and 8)

The following five sentences come from a paragraph. The first and the last sentences

are given. Choose the right order in which the three sentences (PQR) should appear to

complete the paragraph.

7. Sl
s2
S3

S4
85

R
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Nobody actually wants to cause offence but, as business becomes ever more

international, it is increasingly easy to get it wrong.

This can be a demanding task and, ina crowded room, may require gymnastic
ability if the farthest hand is to be reached.

In France good manners require that on arriving at a business meeting a
manager shakes hands with everyone present.

In many European countries handshaking is an automatic gesture.

There may be a single European market but it does not mean that managers
behave the same in Greece as they do in Denmark.

(1) RPQ (2) PRQ (3) QRP (4) PQR

Lk
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8. SI India has gained dramatically from similar, massive changes in our attitudes
towards our population, entrepreneurs, the English language, globalization
and democracy.

52
53
54
S5 Inessence, I think no other country m the world right now has the combi nation

that makes the Indian opportunity so significant,

P There are also nations that have huge natural resources, but not the
entrepreneurs and technologies to spread the wealth,

Q There are countries around the world, for instance, which are at a demographic
sweet spot, but lack the democracy they need to exploit it.

R It has made India a country that right now has a unique cadence, where all

our major strengths have dome together and matured at the same time.

(1) RPQ (2) PRQ (3) QRP (4) PQR
(Questions 9 to 11)
Read the passage given below and answer the questions that follow,

These huge waves wreak terrific damage when they crash on the shores of distant
lands or continents. Under a perfectly sunny sky and from an apparently calm sea, a
wall of water may break twenty of thirty feet high over beaches and waterfronts,

crushing houses and drowning unsuspecting residents and bathers in its path.

How are these waves formed? When a submarine earthquake occurs, it is likely to set
up a tremendous amount of shock, disturbing the quiet waters of the deep ocean. This
disturbance travels to the surface and forms a huge swell in the ocean many miles

across. It rolis outward in all directions, and the water lowers in the centre as another
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swell looms up. Thus, a series of concentric swells are formed similar to those made
when a coin or small pebble is dropped into 2 basin of water. The big difference is In
the size. Each of the concentric rings of basin water travelling out toward the edge 1s
only about an inch across and less than a quarter of an inch high. The swells in the
ocean are sometimes nearly a mile wide and rise to several multiples of ten feet n

height.

Many of us have heard about these waves, often referred to by their Japanese name of
nsunami.” For ages they have been dreaded in the Pacific, as no shore has been free
from them. An underwater earthquake in the Aleutian Islands could start a swell that
would break along the shores and cause severe damage in the southern part of Chile in
South America. These waves travel hundreds of miles an hour, and one can understand
how they would crash as violent breakers when caused to drag in the shallow waters

of a coast.

9, One surprising aspect of the waves discussed in the passage is the fact that they

(1) are formed in concentric patterns.
(2) often strike during clear weather.
(3) arise under conditions of cold temperature.

(4) are produced by deep swells.

10. The waves discussed in the passage often strike

(1) along the coasts of Aleutian [slands.
(2) at great distances from their place of origin.
(3) at the same time as the occurrence of earthquake.

(4) in areas outside the Pacific region.

LL-3/C 5 [P.T.O.




I1. Itis believed that the waves ih the passage are caused by
(1) seismic changes.
'(EJ concentric time belts,
(3) atmospheric conditions.

(4) underwater earthquake.

(Questions 12 to 14)

The following sentences have an error in one part of the sentence. Find the part
(1,2, 3, 4) which has the error.

12. (1) Sheela had not been paid (2) any attention to (3) what she ate (4) when she
was a child.

13. (1) Since we have been living (2) in Mumbai for five years, (3) we are reluctant
(4) to move for another City.

14, (1) What is it about Istanbuy] (2) that makes people across (3) the world wanted to
come back (4) over and over again ?

(Questions 15 and 16)
Read the following sentences carefully and look for mistakes in spelling, capitalization,
punctuation, grammar, and usage in the sentence. Choose the option that has a mistake.

15. (1) The restaurant serves delicious homemade soup

(2) with bread and is one of many business

{3) coming up at the new mall;

(4) it is quickly becoming popular among local residents.
16. (1) This book has three main aims

(2) tolink theory and practice of literacy teaching:
(3) to explore creative approachies to literacy;

{4) and to focus about speaking and listening and teaching and learning.

I_r ]-_.-_ 3 EIIIC 6




Choose the correct antonym of the word given in bold and complete the sentence.

17. Progress is the antidoteto
(1) stagnation
(2) success
(3} achievement

(4) disaster
(Questions 18 to 20)

Which of the alternatives best cxpresses the meaning of the idiom given below ?
18. A bone of contention

(1) a difficult task

(2) a cause of dispute

(3) a cause of happiness

(4) a reason for failure

19. To be the Devil's Advocate
(I} to present a counter argument
(2) toplead as a lawyer
(3) to argue for someone

(4) to advocate some idea or thought

20. Fly-by-night operalors
(1) People working the night shift
(2) Untrustworthy people
(3) Exhausted people

{4) Pilots who fly in the night

LL-3/C 7 [P.T.O.




"ART - B
Teaching Aptitude

(Expected Answering Time : 40 Minutes)

WIT -
Toraror arfverman
(aqﬁf\a-mmm:amﬁ:m)

21. Who proposed that emotions have two 21. B SEATHE o 6 w3 1 @) e

22,

23.

ingredients i.e. physical arousal and
cognitive label 7

(1) Cannon/Bard

(2) Schachter/Singer

(3) James/Lange

(4) Skinner/Tolman

A fourth class teacher promises Akash 22.

that if he does well in spelling test, he
will not be asked to stay for extra class
after the school. The teacher is using
the technique of _
(1) Positive reinforcement

(2) Shaping

(3) Negative reinforcement
(4) Time out

A teacher can shift the emphasis from 23,

teaching to learning by

(1) encouraging rote learning,

(2) focusing on examination results.

(3) adopting child centric pedagogy.

{(4) adopting
pedagogy,

teacher  centric

LL-3/C
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24. Which is the best way for a teacher to 24. srhmfig faenfda = Y = 3¢ &

motivate irregular students e & 1 el 3rw] iRt A A1
27
(1) compare them with intelligent (1) Wﬂﬁﬂﬁﬁ%mﬁfﬁw
students so they can improve ] TR H STOAT GUR G |
themselves.

(2) give more punishment so they can (2) atfers 308 o1 AT 9 I 4UR

improve themselves. T Goh|
(3) suggest students to work extra (3) ferefofart ) e H St TR H
hours to do better in the class. 2 foru axfirer va A FH = !
T &1
(4) create an opportunity (0 (4) 37 faenfefat &t a0 i wiem
encourage those students for e & Sremifea & & g
active parlicipation in the class. T 1 o SR |

25. Knowledge according to constructive 25. ST 3 ST g F eTER

theory of learning 18 EIEh

(1) given and absolute. (1) vad Ta wwget |

(2} individuals' own mental entity. (2) =feR =t AT HAfHES 91 |
(3) an abstract entity. (3) e G|

(4) aconcrete entity. (4) Td @@ |
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26. The PWD Act 1995 stands for 26. sifefe ft <594 (PWD) 1995 B

fore &
(1) Person With Disorder. (1) feermges =afn |
(2) People With Disorders. (2) foeprees |
(3) People With Disabilities, (3) sTgerg o |
(4} Person With Disabilities. (4) srasm =qftr |

27. Which stage of education the 27, TS meafien fran sifipm (RMSA)
Rashtriya Madhyamik Shiksha e % frg we ) YT e & 7
Abhiyan (RMSA) covers ?

(1) Classes 9to 12 (1) wamod 12
(2) Classes 11 to 12 (2)=wem1149 12
(3) Classes 9 and 10 (3) a1 9 37 10
(4) Classes 6 to 10 (4) w&gm6d 10

LL-3/C 10




28.

29.

Children with special needs should be 28. fdly ArETEEdl wE 9 E) 'q’ﬁ

educated in the inclusive education Farsft frer sgeeen # frfda w0

setting because ey #@ifeh |

(1) they deserve sympathy. (1) 3¢ mErld HTEIFATE |

(2) their physical disability enhances (2) ¥ht wrthen eI IThT AR
their mental weakness. ' FHSI 1 Tl 21

(3) they need to adjust in day to day (3) 32 = S A ghfeufeai 3
life situation. T ) 3 ST B € |

(4) they have to be educated. (4) 3% Rrfera T 2| |

'Self realization' as an aim of education 29. e 3 T899 o ¥ i ‘@-araEy ¥

means whmE 2

(1) moral development of individual. (1) =afs =1 e T |

(2) social development of individual. (2) safts 1 G foed |

(3) development of potentialities of (3) saftn st ermaadt 1 forem |
individual.

(4) emotional development of (4) =i a1 g fae |
individual.

LL-3/C 1 [PT.O.




30. You want to ensure participation of 30. 3T e H 31 & a1fis el o

31.

more students in class. Which of the
following methods of teaching would
vou adopt ?

(1) Demonstration

(2} Discussion

(3} Recitation

(4} Role play

wewThraT giafTaa s ams 4
Frafafaa e Bfed 4 @ s =i
it =l srmamn =@ 2

(1) wesiq

(2) ofeaet

(3) = U

(4) it Fae

A teacher shall inculcate social and 31. U Fverss Rl o marfys S A

moral values among students by

(1) delivering lectures on values.

(2) showing TV programmes.

(3) involving students actively in

co-curmcular activities

(4) observing religious festivals.

- Arrange the following teaching 32,

process in order

(1} relating the present knowledge
with the previous knowledge

(ii} evaluation

(111) reteaching

(1v} formulating objectives

(v} presentation of materials

(1) (@), (i), (itd), (iv), ( v)

(2) (1), (3. (iii), (iv), ( v)

(3) (v, (iv), (idd), (i), (i)

(4) (iv), (), (), (i), (iii)

LL-3/C
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33, Verbal guidance is least effective in 33. e, TavEOr B T T -

teaching . el iy arE 1
(1) attitude (1) sAfgfa
(2) concept and facts (2) FAFEROM w4 a2
(3) relationship (3) AEULH
(4) skills {4) w¥TTE

34. Quality of education in a school/ 34. weh Feremrer ettt o v &t TE
college can be measured through aTreRer FopaT ST e §
(1) infrastructural facilities available. (1) 3TERYT gfeedl i ST %

BT
(2) manpower, teachers and Principal ~ (2) TR, eTeaTe S SEEr
available. IueTeET o BT |

(3) students achievement. (3) Ferenfefat i guerfsa = g0
(4) all of the above. (4) IRIE 941 |

35. The first important step in teaching is 35. Tz § wem ﬂﬁt_'ﬂg"[ ﬁg 2
(1) planning before hand. (1) Tt | ARHT ST |
(2) organizing material to be taught. (2) et I awdl i ) srE e

ST
(3) knowing the background of (3) fRrerfefgt <t quafi &t AT |
students.

(4) none of the above. (4) 3uires o & =i oft = |

LL-3/C 13 [P.T.0.




36. During the developmental process, 36, fmmaTs: Sfsrar % dm sl

37.

which of the following motor skills in
children is usually developed last ?
(1) hopping

(2) catching a ball with two hands
(3) skipping

(4) climbing stairs

Mita earns a score in the 72nd 37.

percentile on a standardized

achievement test. Which 'of the

following is the best interpretation of
this score ?

(1) Twenty-eight students within the
test's norm group scored lower
than Mita.

(2) Mita answered 28 of 100 test

items incorrectly,

(3} Mita scored the same as or higher

than 72 per cent of the students in

the test's norm group.

Mita answered 72 of the test items

(4)

correctly.

LL-3/C
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38. A statistical measure based upon the 38. T ST R ATIE TR S

39.

LL-3/C

entire population is called parameter
while a measure based upon a sample
is known as

(1) sample parameter.

(2) inference.

(3) statistic,

(4) variable.

A curriculum-based assessment 39.

provides information primarily about

a student's

(1) eligibility for special education
Services.

(2) progress in acquiring specific
academic skills.

(3) aptitude for future academic
SUCCESS.

(4) ability to use assistive technology

to perform academically.
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40. There will be better interaction in the 40. a1 ¥ Sgat Trwafe B 2rft aft ws

41,

42,

class if a teacher

(1} reads from textbook and solves
the given problems.

(2) prepares notes well in advance

and reads them in the class.

the

lectures ta

(3)

extempore
students.

(4) dialogues with the students

drawing examples from lother

disciplines.

Success in a teaching profession 41.

depends on

(1) being pleasant to other teachers.
(2) maintaining records.

{3) understanding children.

(4) lovalty to the superiors.,

Learning is all about

(1) making students understand what
the teacher says.

(2) covering the course prescribed in

his subject,

helping students to construct their

OWn meaning,

taking classes regularly.

42.
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43.

44.

43.

LL-3/C

Teachers who are anthusiastic about 43,

the learning process

{1} often lack proficiency in the
subjects which stays hidden under
their enthusiasm.

(2) simply dramatize to hold the
student's attention.

(3) involve their students in the
learning process.

(4) lectures for hours in the class.

The view of children as active builders
ofknowledge who construct theirown
theories of the world 18 given by

(1) Jung

(2) Piaget

(3) Skinner

(4) Pavlov

A teacher needs to start a new chapter
on uses of plants. How should she
present the concept to the students ?

(1) Ask the students to start reading
the paragraph from the chapter
one by one

(2) Explainthe questions given at the
end

(3) Link the new concept with the
previous chapter on types of plants

(4) Define the difficult terms in the
chapter and ask them t0 write

17

3 fmer 0 fam ghpm & wm

TeETEl 2 |

{1)ﬁﬂﬁﬁuﬁvﬂm:wr@ﬁ%ﬁ
i FeTE B ot fdft wA R

(2) == ¥ e Y FEH @ % e
AT W e B € |
(3) ﬁwmﬁaﬁﬁm@fﬁﬁ

45.ﬁﬁwﬁM%W%ﬁwﬁ

@ T S I[E F IR
2 <3 g ST @ reiE ¥ WO
ST SREE S e ?
(1)%%%%—@%%%
ST ) TG o A FE

(2) sy % ofq § FU TG WAl 6




46. The theory "From example to 46.

47,

48.

generalization" is based on
(1) Deductive method.
(2) Inductive method.
(3) Incidental method.
(4) None of the above,

In Piaget's theory the process in which 47.

a person takes material into thejr mind
from the environment as the evidence
of their senses to make it fit, is known
as

(1) schema

(2) accommodation

(3) assimilation

{(4) adaptation

The concept of social intelligence was
first given in 1920 by
(1) Thorndike

- (2) Spearman

(3) Gardner
(4) Binet

LL-3/C
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49. A student is very irregular and missin

classes, when asked it was found that
he is new to the school and facing
adjustment problem in this new to the
school situation, then

(1) a teacher should penalise him, to
make him regular.

a teacher should give lots of home
work to keep him busy.

a teacher should pay more
attention to him and involve im
with other students in class
activities.

(4) a teacher should pay all the
attention to him that will make

him regular.

. Interpersonal skills among students

can be developed by
(1) giving individual assignments as
per their inferest.

(2) giving group assignment in a
diverse group.

(3) giving project work as per their
interest.

(4)

encouraging students lo talk to

other students also.

LL-3/C
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"ART C
Reasoning Ability

(Expected Answering Time : 60 Minutes)

SL. The speed of a cyclist uphill is 10 km/ 51,

hour, downhill is 15 kmvhout and on
level plane is 12 kmv/hour, Cyclist takes
6 hours to go from A to C and § hours
10 go back to A. Consider the given
diagram. For how long did the cyclist
travel on plane BC 7

B

A
(1) 2 hours
(2) 3 hours
{3} 4 hours

(4) 6 hours

. Choose the alternative which can §2.

replace the sign of interrogation (?) in
the given table

WP |
T adtaror
(wﬂféiamm:ﬁnﬁ:z)

@Hﬁ%mr{-ﬁvﬁrmﬁ'@ﬁ@q
mﬁaﬁa,a’éa%,ﬁﬁa?ﬁﬁgq 15
freiTiet/ w21 2 vd wmae w 12
TeReirter/ wre1 2 | ardfher wam A @ ¢
T 9 | 6 HeT HeT & 2 ang A 9
AU s Hay e € | fow o T =
S 4 T 50 s B wrifee Tan 3
e BC R forat 2 amr ) 7

B C

A
(1) 2952
(2) 392
(3) 452
(4) 6 512

= 4 9w fwen w1 a9 5t oy
&1 ARt & e Ry ? 6 9
|




53.

55.

LL-3/C

Choose the alternative which can bhest 53.

replace the sign of interrogation (?)
pPNS - 00T :: DBH:?

(1) PPI

(2) BBI

(3) CCl

{4y DDB

Find the missing term
MxIN - 13x14 - F=xR:7
(1) 79

(2) =17

(3) 14x17

(4) 6%18

In certain code, the word RAIN 158 55.

written as 8$%6 and the word MORE
s written as T#8@. How the word
REMAIN is written in that code ?

(1) #@75%6

(2) #@&$¥0

(3) T@#5%6

(4) 8@TS%0

21

= ﬁﬁaﬁiﬁﬂﬁﬁquqaﬁaﬁ

yeaTEe T (7) T8 A T
PNS : Q0T :: DBH: ?

(1) PPI

(2) BBI

(3) CCI

(4) DDB

e g (1) <R STTE g

MxN @ 13x14 1 FxR oY
(1) 79

(2) 5x17

(3) 14x17

(4) 6=18

e @ 1S & AR RAIN 1 85%6
fapg? sl & A MORE & THI@
REMAIN g &I e SR e
s 7

(1) #@75%6

(2) #H@&S$%b

(3) T@HS%6

(4) 8@T$%6

[PT.0.




36. Find the correct alternative from s, TR B (anehy X) =i apR forg
amongst the four Figures (1)-(4) as to o T & e fa ST &1 98 Sy
how the pattern would appear when (1)-(4)H @ for Y ez fegm ¢

the transparent sheet (Figure X) is
folded at the dotted line,

Figure (X)

Figure (1)

P (1)

Figure (2) P @pd
Figure (3) S (3) ﬂ
Figure (4) I (4)

(1) Figure (1) (1) 3Tmpfy (1)
(2) Figure (2) (2) a1rpfer (2)
(3) Figure (3) (3) aq‘@;ﬁ‘[(g}
(4) Figure (4) (4) aFf (4)

LL-3/C 22




£7. Fill the number series 57, T HEl Wi

3,9, 18, —---om-, 6438 3,9, 18,---mmmmmm, 648
(1) 27 (1) 27
(2) 324 (2) 324
(3) 5¢ (3) 54
(4) 108 (4) 108

58. Find the conclusion for the statement 58, ¥4 3 foru Forad ECak
Statement: Some authors are good T TS AGE s wawht & | Al
lecturer. All the lecturers are good TR T Tl 8 |
researchers.
Conclusion ey
. Some authors are good L. @ﬁ@%ﬁﬁ?ﬁﬂ‘*f% I

researchers.

9 No lecturer is an author. 2. ERIg TEH] S A 2
(1) Only (1) conclusion follows (1) @had (1) s At 2
(2) Only (2) conclusion follows (2) %aa (2) Frad wdl 2
(3) Either (1) or (2) follows (3) 3 at (1) = (2) @ 2
(4) Neither (1) nor (2) follows (4)Fd (1) IA (2) = 2
LL-3/C 23 [P.T.O.




39, How many squares are there in the

60,

LL-3/C

figure given below ?

PN
S

(1) 12
(2) 13
3) 16
4) 17

59. 1= <t 1§ el F et oo 8

—

(1) 12
(2) 13
(2} 16
(4) 17

Sevenstudents A, B, C, D, E, F and G 60. U %87 5 1 frenef A, B, C D,E,F

are sitting in a class ag follows:
E is 2 m to the West of B

F is 2 m to the North of A

C1s 1 m to the West of A

D is 2 m to the South of G

G is 2 m to the East of A

D is exactly in the middle of B and E
How far is E from F (inm) ?
(1) 4

(2) 3

3) 5

(4) 6

24

3 G Frforfan a% 2 43 8,
E,B%trf%fnﬁwzmazﬁag“rm%
F,A%aﬂﬁmzﬁraa%@w%
C, A% afepdt v 1 et ) 2w 2
D, G % farofi s 2 fx gl w2
G AT T R 2wt 1 g oy
D,B3REd S neg i 2

E, F 8 for et s gt w2 7
(1) 4

(2)3

(3) s

(4) 6




61.

62.

LL-3/C

Replace 7 by
journey through the vertices of the
square 1n the clockwise sense takes
you to a popular tourist destination In
India. You have to select the starting
point judi ciously.

Options
(1) 12
(2) 14
(3) 16
{4) 18

Aditi moves towards South - East and
travels a distance of 9 mefres, then she
moves towards West and travels a
distance of 16 metres. From here she
moves towards North-West and travels
4 distance of 9 metres. Then she
travels 4 metres towards East and from
that point she finally goes North for a
distance of 5 metres. How far is she
now from the starting point ?
Options

(1) 13m

(2) 14m

(3) 15m

(4) 16m

4 number so that a 61.

62.

2 % o T U T 1@ e
£ird @ ehRorge fem 9 T A S IeEY
¢ntaiiuﬁﬁafﬁgﬁiatﬁﬁawzzﬁﬁfﬁﬁaﬁﬁﬁﬁﬁ
3 | sy 3T g g Rt
T AT B

\CETR
(1) 12
(2) 14
(3) 16
(4) 18

sfaf gfiror-gd o SR T @ 3T
oftee 1 gl 79w firy a2 ufgm =
sive e 2 i 16 HeU R gl ol
3 |l § e Fe-fEm o I e 2
07 o e B g o A 8 | fR R
£ 33 4 He ) 7 7 @ ST
%ﬁﬁﬂ%ﬁﬂﬁ:iﬁa?ﬁqﬁmﬁ{ﬁ
s el Sl & | o7 98 TR g
At g w2 ? '

fereeea

(1) 13 ik
(2) 14 H1A
(3) 15 i
(4) 16 HI&

[P.T.O.




64,

65.

I.— L' 3.'"."::

Kavita walks 3 km northward and then 64,

she turns left and moves 2 km. She
again turns left and goes 3 km and
tums to her right and starts walking
straight. In which direction 1§ she
walking now ?

(1) West

(2) South

(3) North-West

(4) East

Which of the following words will 65.

come in the middle, if they are
arranged alphabetically.
A — Cruise

B - Crupper

C — Crusade

D — Crude

E - Crumb

(1) B

(2) C

(3) D

(4) E

26

ﬁrﬁamngﬁ%ﬁnﬁaw%
ST O o Tt € ST s et
& | 3w % o e e 2

(1) afam

(2) gféror

(3) FI~gfgg

(4) g

frraa st § % @y ney o gfe
ﬁaﬂﬁgﬁmﬁamﬁ?m%mm|

A — Cruise
B - Crupper
C - Crusade
D — Crude

E — Crumb
(1) B

(2) C

(3) D

(4) E




66. Find the missing number 66.
6,24,60, 210

Options

(1y 120

(2) 150

(3 160

(4y 180

Qelect the related word/s from the 67.
given alternatives
LLAMS:SMALL =

(1) TREE:EERT

(2) CHART:-TRACH
(3) SRENID:DINERS
(4) CROK:CORK

67.

_

Determine the pattern and find the 68.
figure in place of the question mark
10,3, 13, 16,29,45,7

(1) 56

(2) 64

(3) 59

(4y 74

68.

LL-3/C 27

ik AT 1 TG A
6,24,60, 210
e

(1) 120

(2) 150

(3) 160

(4) 180

fo 7o fareret 3 B Tl v g

LLAMS:SMALL

(1} TREE:EERT

(2) CHART:TRACH
(3 SRENID:DINERS

- —

(4) CROK:CORK

i fruifa e S R gE e &
T T EEAT F1 @1 A

10, 3, 13, 16, 29, 45, ¢

(1) 56

(2) 64

(3) 59

(4) 74

[PT.O.




69. A goldsmith has five gold rin

70.

LL-3/C

having a different weight

Statement I-Ring Dis weighing twice
as much as ring E

Statement 2-Ring E js weighing four
and a half times as much as ring F
Statement 3-Ring F is wei ghing half
as much as ring G

Statement 4 Ring G is weighing half
as much as ring H

Statement 5—Ring H is weighing less
than ring D but more than ring F
Which of the fol] owing represents the
descending order of weights of the
rings ?

(1) D.EGH and F

(2} D.EEHGand F

(3) EGH,.D and F

(4) HLFEGD and E

If 427 is coded as "for my brother", 70.

and 832 coded as "try for best" and
6514 denotes as "my neighbour makes
noise". Which number will represent
"brother" ?

(1) 2

(2) 4

(3) 7

(4) 5

8s, each 69,

28

Wﬁﬂmaﬁwﬁﬁ‘ﬁﬂmﬁ'@m
&, W 1 e Ty 3

O] r—rjaﬁg"raﬂaﬁ:{ﬁaﬁ]ﬁrw
ST &

FT 2-E ST 1 a5 F g e
HT¢ TR AT &

T 3-F I &7 9w G 3T &
34T R

FI 4G S B A H s
o 5~ H 3T %1 a5 D 3t §
T F SE 4 arfern 2
ﬁmﬁﬁﬁﬁﬁ@raﬁﬁmaﬁ@?ﬁ%am
I ST 3 wrhay 2 7

(1) D.E,GH 3 F
(2) DLEH,G sk F
(3) EEGH,D s F
(4) HF,GD #k E

af& 427 =y “for my brother”, 75 837
Eal "try for best" % w9 I forgy ST R
Td 6514 "my neighbour makes noise"
BT HIF € | T AT "brother” Fiy
Sl wf ?




71. A number series is given with two 71.

72.

LL-3/C

terms missing. Choose the correct
alternative that will complete the
pattern in place of the question marks.
20, 20, 19, 16, 17, 13, 14,11,2,7
(1) 13,14

(2y 10,11

(3) 13,16

(4) 10,10

In a row of girls, Priyanka and Deepa
occupy the ninth place from the nght
and tenth place from the left end
respectively. If they interchange their
places, Privanka and Deepa occupy
seventeenth place from the right and
eighteenth place from the left
respectively. How many girls are there
in the row ?

(1) 27

(2) 26

(3) 25

(4) Data madequate

9
Options
(1) 3 i
(2) 4
(3) 6
CI

72.

_ Find the number at the position of 7. 73.

ﬂﬁ?ﬁﬁﬂTﬁ@ﬁﬂéﬁﬂ%%fﬁaﬁiﬁuaiﬁé
T E | Tt Faeren e s e B
Torr o AR T g R |

2&,29,19,16,1?,13,14T11,?,?
(1) 13,14

{(2) 10,11

(3} 13,16

(4) 10,10
ﬁﬂﬁ%ﬁﬁiﬁ?QﬁaﬁﬁﬁfiﬁﬁhETEﬁzéﬁﬂ
aﬁnﬂ:aﬁ%ﬁi#ﬁtii?uFrqéEnQiiﬁﬁaﬁ
o T E B | AfE 3 ST T
1y 7 eerdl & Ay T ST i s
aﬁ%ﬁii¥m@§'amq1ﬁiam¢£ianﬂxgi
T T T | dafE 1 fpeh st
27

(1) 27
(2) 26
(3) 25
(4) ST SRS

?éa¥amtﬁﬁhanaﬂqawanﬁi

N

Toraed

(1) 3
(2} 4

{P.T.O.




74,

75,

f-‘h.m&B”.'BE::Cm&Sj:?

(1) 9,

@ 17,
3) 19,
4) 22,

Given below is an expression and four 75,

" options. You have to Jjudiciously

76.

77.

replace the given expression by a four-
letter word and choose from the
options the one of which a four-letter
word replacement is exactly the former
four-letter word read in the reverse
order.

Expression : Animals and hirds kept
at home for pleasure.

Options

(1) Beloved

(2) Croppled

(3) A stair

(4) Flesh of animal

Find the odd one out

(1) Equilateral Triangle
(2} Square

(3} Regular Pentagon
(4) Regular Hexagon

Find the odd one out
(1) (7,24, 25)

(2) (9, 26,29)

(3) (9, 40, 41}

(4) (16, 63, 65)
LL-3/C

74. AlﬁEﬁIB” 3 ::CEUSﬂIS_?:'?

76.

77.

30

(1) 9,

@ 17,
(3) 19,
4) 22,

=1 G arfireafen 4 2 ait o Ry
few e 3 | st vw sfirefis % e
m%éwﬁamé@w:ﬂmmrm
T 2 $ﬁtﬁ%$Fﬁiﬁ'ﬁ1ﬁﬁi¥r§pna
A S 6 OE % =R w1ew % vreg a5y
ﬁaﬁnmﬁwmﬁwwaa’m
1 T2t wfqzumeT 2 |

AY=RE: Animals and birds kept at
home for pleasure.

[ECae:

(1) Beloved

(2) Croppled

(3) A stair -

(4) Flesh of animal

EEET IR (o
(1) gwarg et
(2) =i

(3) Frafim ey
(4) Fafia v

S T T T
(1) (7, 24, 25)
(2) (9, 26, 29)
(3) (9, 40, 41)
(4) (16, 63, 65)




78. Complete the series

Options

1 o3
) 13 I[:]14-
1

4 15
® 33 @

79, Find the alternative which will have 79.

the smallest value for x =—10.3.
(1) 2"

(2) lix

(3) x?

(4) 2°

on a group of five learners L1, L.2,13,
L4 and L5 to know their intellectual
levels. Results of the test indicate that
the learner L1 is less intelligent than
the learner L.2. The learner L3 is less
intelligent than the learner L4. The
learner 1.2 is less intelligent than the
learner L3 and learner L1 is more
intelligent than the learner L5, Which
learner is most intelligent ?

(1) L1
(2) L2
(3) L3
(4) L4

LL-3/C

80. Psychological tests were administered 80.

78, ) 9 T e Y gl HINTT

03415
5°5"17° —
IEETa
2 Mg
M 13 2 73
14 o3
() 3 ® 5
x=—ﬂ,5%%‘lwmaﬁﬁ?ﬁﬂ
T =T e |
(l) 21:’1
(2) lx
(3) 1ix?
4) 2
ote dred At L1, L2, L3, L4 T LS
%m@maﬁaﬁﬁﬁwﬁaﬂﬁ%
Ryo T weron e T | e
S aETT T e & iR L1, L2 3t 3T

g 21 13, L4 i o1 FH
g | L2, L3 i 3rie o 3T
g 1,1, L5 1 aTien S Gfen e |
£ Tt g 2 7

(1) L1
(2) L2
(3) L3
(4) L4




SPACE FOR ROUGH WORK

LL-3/C 32




